ABEAERDM
i [k

= L B
THREE |[BREE 2B it FR 4E %%
fﬁ g
ETREER At 2
ER I 3
MEE 3
2T —FUR ]
o it 2
TR RIS AT 2
YR 3
SEIZ#E 3
SR AT 3
RIEh 3
REf (SAEHD) 3
Rt (XA ) 3
‘ Bt 1.5
YA RZ— #it 2
i 2
REZE 3
HEEE 15
HHEE |[BEEE TR 1.5
2
famt R SR 2
it :
[EHEER ﬁ%ﬂ 15
i 2
$ N

umEE é%¢¢ 1.5
M 3
e
BIEsE R iﬁ;_#.j 2

= —*—TLAR
EER 2
i 2
Bk 1
IREE [REER ‘
=R A A 3
fﬁ g
FEEER K 2
ENfiEE 3
y CRYR VA 3= 3
joisREE 3
MP/ERHZEE 3
MPEEEZEER 3
fgatE 3
BFO 3
3




HE-EHaf it B EE 30
#FHE 154
FHB 1.54F
pik: il 14
TN /NERE CEFESR) 148
55 A
Fis |[FHEK
0% 48
1~2i% 6H
3~5i% 108
6~145% 14
15~178% 14 68 XKRIZOWTIK, ERFERERIDIDOOTIELET S,

1 ERAKOSE AEHERE IO RUTREL ]
2. ERAHSNDS5 2]
3. ERANREHAT A NBRCHER)




